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(b) Pierre and Alice are each paid the same amount for each hour they work.
Pierre is paid £240. He works for % of the time Alice works.

How much is Alice paid?

(c) Pierre changes £250 into euros.
£1 is worth 1.26 euros.

How many euros does he receive?

(C) euros [2]
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11 (a) Liu has a bag only containing red grapes and green grapes.

P\L"B % of the grapes are red.

If there are 8 red grapes in the bag, how many grapes are green?
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(b) Pierre and Alice are each paid the same amount for each hour they work.

Pierre is paid £240. He works for % of the time Alice works.
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4 Jeatis growing carrots from seed in his garden.
He plants 28 carrot seeds but only 12 grow.

Jeat says
The probability of one of my carrot seeds growing is %

(a) Use Jeat's result to show that he is correct. [1]
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(b) A farmer uses this probability to calculate how many carrot seeds he should plant to grow
R u E 10000 carrots.

How many seeds should he plant?

1 EA seeds [2]

(c) Explain why it may not be sensible for the farmer to use Jeat's experimental probability to
calculate the number of seeds he should plant.
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(b) A farmer uses this probability to calculate how many carrot seeds he should plant to grow
10000 carrots.

RUb 7 .

How many seeds should he plant? 7
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(c) Explain why it may not be sensible for the farmer to use Jeat's experimental probability to
calculate the number of seeds he should plant.
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‘22 There are only red counters, blue counters and green counters mn a bag. Y

number of red counters : number of blue counters : number of green counters=1:3:7

A counter is going to be taken at random from the bag.

(a) Complete the table below to show each of the probabilities that the counter will be
red or blue or green.

Colour red blue green

Probability

(2)

Jamie takes at random a counter from the bag and records the colour of the counter.
He then puts the counter back in the bag.

Jamie does this a number of times.
He records a total of 68 blue counters.

(b) Work out an estimate for the total number of times Jamie takes a counter from the bag.

(Total for Question 4 is 4 marks)
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number of red counters : number of blue counters : number of green counters=1:3:7

A counter 1s going to be taken at random from the bag.

(a) Complete the table below to show each of the probabilities that the counter will be
red or blue or green.

Colour red blue green

Probability A I 3/” 7/, r

Jamie takes at random a counter from the bag and records the colour of the counter.
He then puts the counter back in the bag.

Jamie does this a number of times.
He records a total of 68 blue counters.

(b) Work out an estimate for the total number of times Jamie takes a counter from the bag.

Bhe 2 S0 =68 Y 7693
|

A= 2 269 06250

(Total for Question 4 is 4 marks)
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14 A jar contains sugar.

rab  The jar and the sugar have a total weight of 850 g.

Anna uses % of the sugar.

The jar and the sugar now have a total weight of 530g.

Work out the weight of the jar.

(Total for Question 14 is 3 marks)




| ' vid ed by W Neill
14 A jar contains sugar. ideo created by W Nei

R4b . :
['he jar and the sugar have a total weight of 850¢.

Anna uses = of the sugar. Qé = gZ O\C}
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The jar and the sugar now have a total weight of 530 ¢. [

Work out the weight of the jar.

320

’ja;r 7 X = ({80 = 370 ;

(Total for Question 14 is 3 marks) l/
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18 On Saturday, some adults and some children were in a theatre.
The ratio of the number of adults to the number of children was 5: 2

Each person had a seat in the Circle or had a seat in the Stalls.

% of the children had seats in the Stalls.
117 children had seats in the Circle.
There are exactly 2600 seats in the theatre.

On this Saturday, were there people on more than 60% of the seats?
You must show how you get your answer.
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The ratio of the number of adults to the number of children was 5: 2 |
children

Each person had a seat in the Circle or had a seat in the Stalls.
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117 children had seats in the Circle. 4 Circe |17
There are exactly 2600 seats in the theatre. .
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4 E of a number 1s 32

Find the number.

(Total for Question 4 is 2 marks)
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(Total for Question 4 is 2 marks)



10 Jim thinks of a number. Created by W Neill

% of Jim’s number is 48

5 .
Work out E of Jim’s number.

(Total for Question 10 is 2 marks)
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/.-___' Y
% of Jim’s number is 48 ‘S\M 51 UML)‘Y - 72

5 _
Work out E of Jim’s number.
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(Total for Question 10 is 2 marks)




16 Alan, Bispah and Chan share a sum of money.

RLtQ Alan gets % of the money.

Rlb

Bispah gets 5 of the money.

Chan gets the rest of the money.
Alan gets £2.50

(a) Work out how much money Bispah gets.

(b) Find the ratio
R amount of money Alan gets : amount of money Chan gets

Give your answer in the form a:b where @ and b are whole numbers.

Video created by W Neill
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11 The pie charts give information about the ages. in years. of people living in two towns.
Adley and Bridford.

Bridford

Diagrams
accurately
drawn

The ratio of the number of people living in Adley to the number of people living in
Bridford is given by the ratio of the areas of the pie charts.

What proportion of the total number of people living in these two towns live in Adley
and are aged 0 — 19?
Give your answer correct to 3 significant figures.

(Total for Question 11 is 3 marks)
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7 g of a number is 162

(b

Work out the number.
[2 marks]

Answer
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25 In an office there are twice as many females as males.
p\[.rb % of the females wear glasses.
<

of the males wear glasses.

84 people in the office wear glasses.

Work out the number of people in the office.

Answer

Video created by W Neill

[4 marks]
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A coin lands on Tails 200 times.

The relative frequency of Tails is 0.4

Work out the number of times the coin was thrown.

[2 marks]

Answer




5 A coin lands on Tails 200 times.
P’Zé The relative frequency of Tails is 0.4

()\L\’ Work out the number of times the coin was thrown.
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25 The Venn diagram shows some information about 150 students. Video created by W Neill

¢ = 150 students

4
P28 C = students who study Chemistry c 3
R4b

P = students who study Physics

The probability that a Physics student, chosen at random, also studies Chemistry is i

One of the 150 students is chosen at random.

Work out the probability that the student does not study either Chemistry or Physics.
[4 marks]

Answer
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¢ = 150 students ¢ 150
P28 C = students who study Chemistry C P
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The probability that a Physics student, chosen at random, also studies Chemistry is — o R
One of the 150 students is chosen at random. \'2/
Work out the probability that the student does not study either Chemistry or Physics. T - ()O
[4 marks]

Answer [ SO




